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Reproductive Physiology and Artificial Insemination (Practical)    
                                         Third Class                                                            Semen examination and testing it for rated
To examine the semen there are initial tests with the naked eye and include: -
1 - size ejaculation sperm.
2 - color semen ejaculation.
3 - semen density.
4 - the proportion of impurities.
5 - pH  ejaculation.
There is also a microscopic examination of semen evaluation of these tests include: -
1 - movement the individual of sperm .
2 - Movement collective of sperm.
3 - concentration of sperm.
4 - examining sperm mutilated and dead organisms ( morphological examination).
First - the examination with the naked eye: -
1 - size ejaculation semen: - Size is read and determined to the nearest millimeter cubic read staging on the glass tube in the bull of the volume of normal ejaculation from 8 - 10 cm3
. 2 - color ejaculation: - color notes ejaculation semen through a tube collection and the color depends on the concentration of sperm. 
3 - semen density: - There is a direct correlation between the indensity of semen and sperm concentration higher the density increased sperm concentration and the specific weight rate( density) for sperm in bulls up to 1.026.

4 - the proportion of impurities: - When you take care of cleaning the ventral part of the bulls cutting hair casing penis and sterilization and drying slot penis cover the likelihood of contamination semen be few. 
 5 - (PH): - for the measurement of pH there is a special device called PH-Meter and the rate of the semen of bulls is 6.75. 
Second: microscopic examination: -

Concentration of sperm cell: - the concentration of sperm depends on many factors, including maturation male reproductive system and integrity of the disease and the age of the animal and the size of the testis and the level of nutrition as well as the seasons of the year different Also, the strain effect on the concentration of sperm.
There are two methods to examination the concentration of sperm: -
1- method of counting direct: - using a Hemocytometer to count and so prepare solution Dilution first component of a solution of NaCl pure concentration of 0.9% and add the solution of mercuric chloride concentration of 0.01% in order to stop the movement of sperm and dying this solution with a few drops of iosen dye for ease discrimination sperm.
and size (20 cm3) of this Dilution solution is added (0.1 cm3) of the semen and mix well any reduction ratio is 200:1.
in the Hemocytometer there are glass slide thick division called the division Thomas  is divided into 16 large square and a large square divided into 16 small square. The area of the small square is 1/400 mm 2 and when you put the lid slide over the division becomes height between the slide and the division of 1/10 mm.
In this way the size of a small square = 1/400 * 1/10 = 1/4000 mm3.

To calculate the concentration of sperm: - assume that the number of sperm calculated in (80) is a small square (50) sperm.
                                                           The number of sperm in a small square
The concentration in the small square = ---------------------------------- × Percentage of Dilution 
                                                                   size of the Small square
                                                    
                                                                50
                                                         ---------------
                                                                  80
concentration on the small square = ---------------------------- × 200
                                                                   1
                                                           -------------
                                                                4000
             50
= --------------- × 4000 × 200 sperm / mm3
             80
The number of sperm in 1 cm3= 500000×1000= 500000000 sperm

 2 - light method: 
malformations Test: -


malformations are divided into two types: -
A- Primary malformations: - the Abnormalities that occur as a result of disruptions in the process of sperm composition and these malformations include: - 
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5- Tail wrapped

6- Double the head and tail

  

7- The contact is not normal for the 

body to the head

                                  
B - Secondary malformations: - the malformations that occur in the epididymis and during transmission sperm in the male reproductive system and examples of these malformations
1-  head normal separately                       2 - point top plasma 
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2- Narrow head

3- Caint head
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3-Points Lower plasma                              4 - twisting (bending) of the tail.
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Artificial insemination:- is a process of put to male germ cells (Sperm cells) within the female reproductive system in a mechanical rather than direct insemination by the male.

Advantages of Artificial Insemination

1-  to increase production rapidly and in particular the production of milk and fat in dairy cattle as the production of butter increased by 11.2 kg per cow per year, and a comparative study of Henderson on improving production in the case of the use of insemination natural and artificial found increase of 181.4 kg milk and 7.7 kg fat per year for cows used in insemination natural either those used by artificial insemination, the increase was 232.6 kg milk and 11.4 kg fat per year due to increase in production to take advantage of the male genetically improved on a large scale .
2-  Get the reproductive system of cattle disease in different department, when inseminated cow artificially exposed to the test procedure of  pre-impregnated art prior to insemination leading to the discovery of the cause of reproductive disorders in a timely manner which easily the task of treatment and cure. 
3-  From the economic point, the improved bulls is high costs because of the effort and money and the time and mane to make sure of its efficiency productivity and free of genetic defects and with this the economic advantage of these bulls have more when used for the purposes of artificial insemination. 
4  -The fertility ratio in the herd of artificially fertilized cows greater than that of normal insemination.
5  -Bulls can be evaluated in terms small of production and an early election by an examination of birth control (Progeny Test) on the large numbers of cattle throuh period of time.
6-  Can avoid the difference in size between male and female, which often impede the natural process of insemination.
Disadvantages Of Artificial Insemination

1. Not Being Timed Properly (In order with the “heat” cycle).
2. The Semen Not Being Handled Properly

3. There are about 22 steps that must be done right to have an accurate fertilization.
4.The main point of this information is that you need to truly know what you are doing and getting into before beginning this process.
Tools Used In Artificial Insemination

1. Liquid Nitrogen tank ,2. Long gloves ,3. Insemination rod ,4. Paper towels ,        5. Straw cutter ,6. Sheath ,7. Semen straw ,8. Warm water bath,9. Clock ,10. Thermometer ,11. Rubbing alcohol ,12. Record books
Steps an artificial insemination


1- After handing the cow in Cage wearing a rubber glove or plastic and lubricates the right hands after washing with warm water soap and enters the hand into the rectum to clean it from waste product.

2 - Holds cervical comfortable by right hand and the intervention of a catheter through the vagina opening after cleaning and drying the cavity of the vagina as faraway apossible.  

 3 - fingers of the right hand help to detect cervix and directed the catheter into the middle of cervical canal.

4- Then withdraw the Glaucoma semen slowly in catheter and the hand in the animal quietly.      
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